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10.

SECTION A — (10 x 2 = 20 marks)
Answer any TEN questions.
Define Income.
GU(HLDOITETLD GUENTUImI.
Who is called as non - resident?
G U GBLIUDDEIT eTETm EMLPSSLI(HLIGUT W ?
What is Pension?
@U16| 2arHluih TETHTE) CTEITE ?
What is allowances?
LIlg &ET 6TETMTE) 6T60T60T ?
What is fair rental value?
BT eUTLang LOSILIL| GTETMTE 6TabTen ?
How to calculate Net Annual Value?
Blar < ar® wHifener Halli ereueumm sarédl Hloumi?
Define Business.

cuetl&Ld eUanTwIm).

What do you understand the term mercantile system of
accounting?

amils epn semsdud eearn ussdmer Belr Lfbg Csrem g
wing) ?

What is long term capital gain?

BT ST APEOSET USTWID CTETHTE) GTETET ?

What is casual income?

SNHEHTEOSH GU(RHLOTETLD ETETDHTE) 6T6HTET ?
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Expand the terms TDS and PAN.
TDS wpmib PAN e flu ustisaer aflflounsgs.

State the meaning of Traces.

4 Crevev ererLger GLITmET samis.

SECTION B — (5 x 5 = 25 marks)

Answer any FIVE questions.

What are the features of Income?

QU(BLLTETSS 6T (GHeTTS WIBISET Wng) ?

Mr. Natesan an Indian citizen staying in America comes on a
visit to India during the previous year 2020-21 for a period of
85 days. Before 2020-21 he usually visits India for a minimum
period of 150 days a year. Determine his residential status.

S pCLger eramuoum QpSlw Wrensy e GwMssmelld auslsg)
QUMSADTT. el (PpHdFL Year(H 2020-21 & @bHurelhE eabs
85 BIL&ET SBSlaTr. 2020-21 &@& (PETETT  GULPSSHLONS
@iHureilngG eupssLTs eumans LMbg <wa@THéE 150 Bl ser
s@aut. seufler Gguflenw Hleeulmer Sroralsseayb.

Mr. X resides in Chennai, gets Rs.3,00,000 p.a as basic salary,
D.A forming part of salary for service benefits Rs.40,000 and 2%
commission on turnover achieved by his (Turnover achieved by
him during the relevant period is Rs. 3,00,000) He receives
Rs.60,000 as HRA though he pays a rent of Rs.80,000 p.a.

S X eranueur Ggerenaruied audlsg eu@mEpmit. eum SjigliLienl
FOLGTIONS HaT(h&@ @5.3,00,000 , UEpslulg gbuerb Cemeu
peoafer Caibzg 5.40,000 Goaib elpumer Wgrar shleurs 2%
Wb QUUEDTT. S6euT eueumeaTiyed CFUIF earTLamer mp.3,00,000)
Sjaum eI eumLesll Ugwns ¢[.60,000 Gumdlpmr. Coaib Sjeur
Qeqsgib aUmLans ,aT(H&ES 5.80,000 & LD.

From the following, calculate Income from House Property

Municipal Rental Value Rs. 28,000
Fair rental value Rs. 34,000
Standard rent Rs. 35,000
Actual rent Rs. 3,000 per month
Municipal tax Rs. 1,500 is paid by the owner
Interest on loan Rs.4,000.
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WereumeuareudMadl(phg 6l HF Cersg eumeuruiamens sarés (Hs.

BSTTLE euTLens Wi €5.28,000
Blum eurLeng gl €h.34,000
Hlenaw cum_ens 5. 35,000

> ETEWITET GUTL60& sSSHE 653,000
B&ITLS euifl @r.1,500 2 Menwwmeri Qegissert

SL@IGSHTAT Gl _lg ¢h.4,000.

State the deductions that are allowed from the annual value in
computing the income from house property.

AL(pF Qansg eumeauriamer samsdHind Gurg e LG
S@DFHSSILHD S EMETS Snmis.
Calculate income from other sources from the following :

(a) Income from agricultural land in Pakistan Rs.49,000

(b) Income from Royalty Rs.15,000 actual expenditure spent
for this Rs.1,500

(¢) Salary as member of parliament Rs.2,500 p.m
(d) Winnings from cross word puzzle Rs.12,000

(e) Rental income from plant and machinery Rs.4,000
excluding Rs.300 for repairs and 750 for depreciation.

Gemeumeuameupdedl(bhg — gever  JsTIEIEGET  epeod  Gubhm
cumeuTullenar HeT&dl (Hs.

(@) undlevgrafler 2 drer efleugmu Hlowbd eped euhHEIML ¢5.49,000

(<) o fMewgsrens eumeurs ¢5.15,000, o a@manowrear GCFwe]
Qewuisgl ep.1,500

(@) umpm@pwern 2 miribert FbueTd LISSSHDHE p.2,500

() @n&0swss GCuriiy epeobd Qeudid CubDE em.12,000

() Qumdl wHmbd QuBHrb Bg eUTLME BT eh.4,000 @)&6
LI(pGIumiLy 300 HMILD Cauinmerd . 750
CerssiinLalldane.

What is the procedure for e-filing?

Wleanay eufl GETEEL(H STESQSGMNW L (PEDSET LITG) ?
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SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Explain how to identify the residential status of individual.

safpufer @quil@mry Hlapeulenar ereueuTm <HELWITETLD &TaTLIT
orar elaTs G5,

From the following calculate Income from Salary of Mr. Krishna
who is working in ABC International Pvt Litd. Chennai.

Basic salary Rs.50,000 p.m

DA Rs.30,000 p.m
Bonus Rs.1,00,000
CCA Rs.1,500 p.m
EA Rs. 6,000 p.m

Education allowance Rs. 8,000 p.m (for his two children)
Hostel allowance Rs. 10,000 p.m (for his two children)

Academic research allowance Rs. 25,000 (Actual amount spent
Rs. 50,000)

HRA Rs. 20,000 p.m (Rent paid Rs. 12,000 pm)
Conveyance allowance for official purposes Rs. 3,000 p.m

Assume DA as forming part of salary.
Gemeumeuameupdladlmbg S SHmegentm  eremueuflen  FbLIGT
aumbrasdaar  samsdhs. eut Ggaramaridd o dear  ABC
uenarT_(h Blnieuersdler Lanflyfdmmi.

SfgLILenL FDLIETD @5.50,000 WSS nH&

LI@h&LILILG £5.30,000 55N S,

2018650STe0s h.1,00,000 LIFSHDE,

B&7 FL(BILUG @6.1,500 WIssSS0HE

Qumrpg Curs@LiLlg 5.6,000 WLISSSHDHE,

seadlliLlg ¢5.8,000 WLISSSHDEG (QTET(H GLHDSSEHES)
MBSy @5.10,000 WISSHDEG (QTETH GLHNSEHEHSSE))
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g6l rmiFs U @p.25,000 (eamenbwns Cswe| GFusg)

(5.50,000)

IL( eurLemsliuy LIsSHDHE@ 5.20,000 (auTLas CFausHug
LIS MHE eH.12,000)

Sieud Hlflssorar CUTEGuTSg Ll LISSHMHS op.3,000
L@h&LILIG FDLGTSS (h LGS WLITE 2 CTemg) eTem eyiLoneilss.

Mr. Gupta constructed a House in 2000. 50% of the property is

let out and 50% is occupied for his residence. The let out portion

was self occupied for 2 months.

Rs.
Municipal value 5,000 p.a
Annual rent of 50% portion 4,000 p.a
Municipal taxes 1,000
Ground Rent 100
Repairs 900
Fire insurance premium 200
Collection charges 300
Interest on Loan taken for construction 1,000

His income from all other sources amounts to Rs. 50,000

Determine his income from house property for the Assessment

year 2021-22.

S GusT eeatuall 6 @earhlenar 2000 b YETH SLlg 6.

Sféd 50% uGHUmar T mssEh Wah oder 50% L@GHaw

Guiluunrsed LweTUHSHTT. uUTL&ssE eI Ll LGS
2 MgBsEr Cembg LWeTUTL 1960 @(HbHSSI.

5 62445/CVC5A/CVZ5A/

CPG5C/CPW5E



23.

.

BSTTLS Sl 5,000
50% UGS &aTan e[ eurl_and 4,000
B&TTL S euilser 1,000
S GUTL N& 100
LI(WGILImTiL 900
SsamiSL () pevarobd 200
QUGEILIL] &L_L_amTid 300
s_(hwrersdh@ Hubm sLassmar el iy 1,000
THETL FTWBIGET ePeD @euT G eu(Heu Tl 50,000
LB Yar®h 2021-22 GGhlu L (hF Qarsg eumeuruilenans
Siromeafléseyb.
From the following P & L a/c calculate income from business.
Rs. Rs.

To rent 4,000 By gross profit 25,000

To salary to employees 5,000 By business income 45,000

To depreciation 5,000 By income from lottery 25,000

To donation 8,000

To income tax 2,000

To patents (acquired before 1.4.98) 14,000
To net profit 57,000

95,000

95,000

(a) Depreciation to be allowed Rs.10,000

(b) An expenditure of Rs.1,500 approved by the I.T. authority

is not shown in P & L al/c.

Qemeumd  @emu BUL  Sarddlel(mhs)

SATES (h 5.

QUTL D&
uewflwmeTiT FbLeTLD
Csuwibrand
BeTlasTenL

cu(mLOme Guifl

6

.
4,000
5,000
5,000
8,000
2,000

cuentls  eu(mLTETSS aners

1.
Qg erulb 25,000
auenfls eu@LOTEID 45 )00
uf&s &G

PLPGLD GU(THLOTGTLD 25,000
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(WF (WF
et 2 Mepo (1.4.98 &@& paent GUHDE) 14,000
Blar emub 57,000
95,000 95,000
(@) S@iwdssiul L Gasuwnerd ep.10,000
(<) eumwrer eafl Hflsmrsder Ly S@iwdHssiiur L GQewalland
¢6.1,500 @y B L saésled sreamissiiuLeldama.
24. Explain the various uses of PAN.

PAN e LievGoum LiwerumsEenar elemd@s.
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